SENATE BILL #2115

Title: Proposal for Sponsorship of a Campus Bicycle Library

Date: April 5, 2005

Authors: Dwayne Meadows and Beth Ross

Sponsors: Senators Colter Kinner and Josh Storey

1. WHEREAS, the University of Wyoming has as many as four hundred

2. International Students and three thousand Graduate Students each semester,

3. many of which have arrived in Laramie without a means of transportation

4. beyond foot travel, not to mention the number of undergraduates in the same

5. situation; and

6. WHEREAS, a bicycle could expand the choices of basic life needs that are

7. extremely limited by foot travel in Laramie, cut down on the misuse of the

8. Safe Ride Project, give the student a sustainable, healthy, and environmentally

9. friendly option for transportation; and

10. WHEREAS, the creation of a bicycle rental system (Bicycle Library) at the

11. University of Wyoming with a small startup costs of \$3,100 would provide a

12. self-sufficient program on campus that would provide students with a bicycle

13. for as low as \$10 a semester with a deposit returned when the bike is

14. returned in working order; and

15. WHEREAS, it has been agreed upon by two recognized student organizations,

16. UW Cycling Team and ENR Club, to help in the management of this

17. proposed project in order to ensure operations are managed at a minimum

18. commitment of ASUW.

- 19. THEREFORE, be it enacted by the Student Senate of the Associated Students
- 20. of the University of Wyoming there be the support of an apportioned \$3,100
- 21. from End of Year funding if available in sponsorship for the creation of the
- 22. UW Bicycle Library (see Addendum A).

Referred to: Student Issues Committee	
Date of Passage: April 19, 2005	Signed: Www W.C.
"Being enacted on April 20, 2005	(ASUW Chairperson) / , I do hereby sign my name
hereto and approve this Senate action "	Davin (a) illand

ASUW President

Addendum A

Itemized List of Costs:

10' x 10' Canopy (cover for storage)

Helmets: 20 Helmets @ \$20.00		\$400.00
Locks: 20 Combination Locks @ \$10.00		\$200.00
Single Speed Cruiser Bikes 10 @ \$150.00		\$1500.00
Used bicycles 6 @ \$50.00		\$300.00
Bike registration 20 x \$5		\$100.00
Repair Fund for preparation of donated bicycles (Cost includes parts i.e. seats, tires, tubes, rims, laborated bicycles)	\$400.00	
Storage Lock (long cable and locks)	\$75.00	

NOTE: It has been agreed by Todd Scott of UW Recycling that bicycles can be stored in the available space of their fenced in yard on 15th and Gibbon at no cost. Additionally, preparation of rental and liability forms have been agreed upon to be assisted by Dan McCoy of the Outdoor Adventure Program and UW Chief of Police Tim Banks.

\$125.00

Addendum A:

Bike Library

Equipment Rental Contract Environmental and Natural Resources Club Laramie, WY 82070 (307)- 555-555

	(50.) 555 5556	
Name		
Address, city, zip		
email (optional)		
•	This is a contract Diago read corofully before signing	
	This is a contract. Please read carefully before signing.	

Equipment Rental Contract:

- 1. The renter assumes sole liability for any injuries or damages sustained by Herself/Himself and/or to others while using this equipment. Any claim about the unsuitability of the rented equipment is limited solely to refund of the rental fee.
- 2. The renter is responsible for the full replacement cost of lost, stolen, or damaged equipment. The equipment is accepted by the renter "as is," the renter has the responsibility to examine the equipment prior to accepting it. Soiled or dirty equipment will be charged a cleaning fee at minimum.
- 3. All rental fees are nonrefundable whether the equipment is used or not. Please plan ahead.
- 4. All renters are encouraged to where a helmet and lock bikes, both are included with the cost of rental.

Customer Signature:		date:		
Bike:		Inventory Numbers and d	escription	
Helmet:			·	
Lock and keys:				
Deposit: Total Amount \$ Cash/Check #		MC/Visa		
Card #	41-01-01-01-01-01-01-01-01-01-01-01-01-01			
		Office Use Only		
Pick up date	Due Back	Staff initials		
Returned On	Condition	Staff initials		

Addendum B:

Bike/Helmet/Lock Checkout/in Sheet

Bike #	
Helmet #	
Lock #	
	Initial
Bike:	Out In
Tires are inflated and in good condition,	
Fenders dent free, not rubbing the tires. (if applicable)	
Shift levers are tight to handlebars (if applicable),	
Gears are in working order (if applicable),	
Handlebars, stem, and seat/seat post tight and in correct position,	
Handlebars, stem, and seat/seat post are in good condition,	
Seat Condition (tears or otherwise)	<u> </u>
Grips condition, (tears or otherwise)	
Pedals tight and spin freely,	
Cranks Tight, not bent, and spin freely,	
Brake levers are tight on handlebars (if applicable),	
Brake are in good working order,	
Wheels are true and round,	
Hubs are tight and spin freely,	
Freewheel/cassette, chainrings, are tight and in working order,	
Helmet is free of cracks, fits customers head, and buckles work,	
Lock is in working order,	
Comments on conditions of Bike: (This includes the above items, any dents or scratches, and any other commondition of the bike)	ments regarding the
	·
Use back of sheet if needed. Bicycle, Helmet, and Lock will be returned in the same condition as we damage will be paid for by the renter upon return. Renters Signature Date / /	hen rented. Any
Renters Signature Date/ Staff Signature Date/	
Bike was returned in good working order. Staff initials date/_	_/
Addendum C:	